Homework Unit 4 
5-2, 

An auditor selected a random sample of 12 accounts from all accounts receivable of a given firm. The amounts of the accounts, in dollars, are as follows: 87.50. 123.10, 45.30, 52.22, 213.00, 155.00, 39.00, 76.05, 49.80, 99.99, 132.00, 102.11. Compute an estimate of the mean amount of all accounts receivable. Give an estimate of the variance of all amounts.

5-8, 

Find five random numbers from 0 to 5,600.

5-10, 

Suppose you need to sample the concentration of a chemical in a production process that goes in continuously 24 hours per day, 7 days per week. You need to generate a random sample of six observations of the process over a period of one week. Use a computer, a calculator, or a random number table to generate the six observation times ( to the nearest minute) 

5-19, 

When sampling is from a population with standard deviation σ= 55, using a sample of size n = 150, what is the probability that ˉΧ will be at least 8 units away from the population mean µ?
5-23,
When sampling is done for the proportion of defective items in a large shipment, where the population proportion is 0.18 and the sample size is 200, what is the probability that the sample proportion will be at least 0.20?

5-28,
Shimano mountain bikes are displayed in chic clothing boutiques in Milan, Italy, and the average price for the bike in the city is $700. Suppose that the standard deviation of the bike prices is $100. If a random sample of 60 boutiques is selected, what is the probability that the average price for a Shimano mountain bike in this sample will be between $680 and $720?
5-29, 

A quality control analyst wants to estimate the proportion of imperfect jeans in a large warehouse. The analyst plans to select a random sample of 500 pairs of jeans and note the proportion of imperfect pairs. If the actual proportion in the entire warehouse is 0.35 what is the probability that the sample proportion will deviate from the population proportion by more than 0.05?

5-34, 

Suppose that you have two biased estimators of the same population parameter. Estimator A has a bias equal to 1/n ( that is, the mean of the estimator is 1/ n unit away from the parameter it estimate), where n is the sample size used. Estimator B has a bias equal  to 0.01 (the mean of the estimator is 0.01 unit away from the parameter of interest). Under what conditions is estimator A better than B?

5-36,  

Three random samples of sizes, 30, 48 and 32, respectively, are collected, and the three sample means are computed. What is the total number of degrees of freedom for deviation from the means? 

5-38

Your bank sends you a summary statement, giving the average amount of all checks you wrote during the month. You have a record of the amounts of 17 out of the 19 checks you wrote during the month. Using this and the information provided by the bank, can you figure out the amounts of the two missing checks? Explain.

